OSCILLATORY BEHAVIOR OF SECOND-ORDER DAMPED DIFFERENTIAL EQUATIONS WITH A SUPERLINEAR NEUTRAL TERM

Ercan Tunç and Osman Özdemir

Communicated by Josef Diblík

Abstract. This article concerns the oscillatory behavior of solutions to second-order damped nonlinear differential equations with a superlinear neutral term. The results are obtained by a Riccati type transformation as well as by an integral criterion. Examples illustrating the results are provided and some suggestions for further research are indicated.

Keywords: oscillation, second-order, neutral differential equation, damping term.

Mathematics Subject Classification: 34C10, 34K11, 34K40.

1. INTRODUCTION

This paper deals with the oscillation of solutions to second-order nonlinear differential equation with a superlinear neutral term and a damping term

$$z''(t) + d(t)z'(t) + q(t)x^{\beta}(\sigma(t)) = 0, \quad t \ge t_0 > 0, \tag{1.1}$$

where $z(t) = x(t) + p(t)x^{\alpha}(\tau(t))$. Throughout this paper, we always assume that the following conditions are satisfied:

- (C₁) α and β are the ratios of odd positive integers with $\alpha \geq 1$;
- (C_2) $p,q:[t_0,\infty)\to\mathbb{R}$ are continuous functions with $p(t)\geq 1, p(t)\not\equiv 1$ for large $t,q(t)\geq 0$, and q(t) is not identically zero for large t;
- (C_3) $d:[t_0,\infty)\to(0,\infty)$ is a continuous function such that

$$\int_{t_0}^{\infty} \exp\left(-\int_{t_0}^{t} d(s)ds\right) dt = \infty; \tag{1.2}$$

 (C_4) $\tau, \sigma: [t_0, \infty) \to \mathbb{R}$ are continuous functions such that $\sigma(t) \le \tau(t) \le t$, τ is strictly increasing, and $\lim_{t\to\infty} \tau(t) = \lim_{t\to\infty} \sigma(t) = \infty$.

By a solution of equation (1.1), we mean a function $x \in C([t_x, \infty), \mathbb{R})$ for some $t_x \geq t_0$ such that $z \in C^2([t_x, \infty), \mathbb{R})$, and x satisfies (1.1) on $[t_x, \infty)$. We only consider those solutions of (1.1) that exist on some half-line $[t_x, \infty)$ and satisfy the condition

$$\sup\{|x(t)|: T \le t < \infty\} > 0 \text{ for any } T \ge t_x;$$

and moreover, we tacitly assume that (1.1) possesses such solutions. Such a solution x(t) of (1.1) is said to be *oscillatory* if it has arbitrarily large zeros on $[t_x, \infty)$, i.e., for any $t_1 \in [t_x, \infty)$ there exists $t_2 \geq t_1$ such that $x(t_2) = 0$; otherwise it is called *nonoscillatory*, i.e., if it is eventually positive or eventually negative. Equation (1.1) is said to be oscillatory if all of its solutions are oscillatory.

The oscillatory behavior of solutions of various classes of second-order neutral differential equations without damping terms has been a very active area of research over the years; for recent contributions see, for example, [1–5, 8–14, 16, 19] and the references contained therein. However, in reviewing the literature, it becomes apparent that results on the oscillatory behavior of second-order neutral differential equations with damping terms are relatively scarce; see [6, 7, 15, 17, 18] for some typical results. It should be noted that although papers [6,7,15,17,18] deal with second-order neutral differential equations with a damping term, the results obtained in these papers except [17, 18] cannot be applied to the case where here p(t) > 1 and/or $p(t) \to \infty$ as $t\to\infty$. On the other hand, the results in [17,18] were obtained for the second-order damped differential equations with a linear neutral term (i.e., $\alpha = 1$), and so the results in [17, 18] cannot be applied to the equations with a superlinear neutral term (i.e., $\alpha > 1$). To the best of our knowledge, there are no results for second-order differential equations with a superlinear neutral term and a damping term in the case where $p(t) \to \infty$ as $t \to \infty$, and so, the aim of the present paper is to initiate the study of the oscillation problem of (1.1) and to provide new results, which can easily be extended to more general second-order damped differential equations with a superlinear neutral term to derive more general oscillation results (see Remarks 2.8 and 2.9 below). It should be noted that the results of the present paper can be applied to the case where $p(t) \to \infty$ as $t \to \infty$ for $\alpha > 1$, and to the cases where p(t) is a bounded function and/or $p(t) \to \infty$ as $t \to \infty$ for $\alpha = 1$. For these reasons, it is our belief that the present paper will contribute significantly to the study of oscillatory behavior of solutions of second-order damped differential equations with a superlinear neutral term.

2. MAIN RESULTS

In this section, we establish some new criteria for the oscillation of equation (1.1). It will be convenient to employ the following notations:

$$g(t) := \tau^{-1}(\sigma(t)), \text{ where } \tau^{-1} \text{ is the inverse function of } \tau;$$

$$\pi(t) := \begin{cases} 1, & \text{if } \frac{\beta}{\alpha} - 1 = 0, \\ k_1, & \text{if } \frac{\beta}{\alpha} - 1 > 0, \\ k_2 t^{\frac{\beta}{\alpha} - 1}, & \text{if } \frac{\beta}{\alpha} - 1 < 0, \end{cases}$$

where k_i (i=1,2) are positive real constants, and for any positive function $\xi \in C^1([t_0,\infty),\mathbb{R})$

$$\eta(t) := \frac{\xi'(t) - \xi(t)d(t)}{\xi(t)}.$$

For proving our results we use the additional condition:

 (C_5) For every positive constant δ , we have

$$\varphi(t) := \frac{1}{p(\tau^{-1}(t))} \left[1 - \left(\frac{\tau^{-1}(\tau^{-1}(t))}{\tau^{-1}(t)} \right)^{2/\alpha} \frac{\delta^{\frac{1}{\alpha} - 1}}{p^{1/\alpha}(\tau^{-1}(\tau^{-1}(t)))} \right] \ge 0$$

for all sufficiently large t.

Note that if $\alpha > 1$, this assumption requires $\lim_{t\to\infty} p(t) = \infty$. Our first oscillation result is the following.

Theorem 2.1. Let conditions (C_1) – (C_5) and (1.2) hold. If

$$\int_{t_0}^{\infty} q(s)\varphi^{\beta/\alpha}(\sigma(s))ds = \infty, \tag{2.1}$$

then equation (1.1) is oscillatory.

Proof. Let x(t) be a nonoscillatory solution of (1.1), say x(t) > 0, $x(\tau(t)) > 0$, and $x(\sigma(t)) > 0$ for $t \ge t_1$ for some $t_1 \ge t_0$. The proof if x(t) is eventually negative is similar, so we omit the details of that case here as well as in the remaining proofs in this paper. It follows from (1.1) that

$$z''(t) + d(t)z'(t) = -q(t)x^{\beta}(\sigma(t)) \le 0,$$

i.e.,

$$z''(t) + d(t)z'(t) \le 0 \quad \text{for } t \ge t_1,$$

which implies

$$\left(\exp\left(\int_{t_1}^t d(s)ds\right)z'(t)\right)' \le 0 \quad \text{for } t \ge t_1.$$

Thus, $\exp\left(\int_{t_1}^t d(s)ds\right)z'(t)$ is nonincreasing and eventually does not change its sign, say on $[t_2,\infty)$ for some $t_2 \geq t_1$. Therefore, z'(t) eventually has a fixed sign on $[t_2,\infty)$, and so we have one of the following cases:

Case (I):
$$z'(t) > 0$$
 for $t \ge t_2$,

Case (II):
$$z'(t) < 0$$
 for $t \ge t_2$.

First, we consider case (I). Since z'(t) > 0 for $t \ge t_2$, from (1.1) we have

$$z(t) > 0$$
, $z'(t) > 0$, and $z''(t) \le 0$ for $t \ge t_2$,

and so

$$z(t) = z(t_2) + \int_{t_2}^{t} z'(s)ds \ge (t - t_2)z'(t).$$

From this it follows that for all $t \geq t_3 := 2t_2$,

$$z(t) \ge \frac{t}{2}z'(t) \quad \text{for } t \ge t_3. \tag{2.2}$$

From (2.2) one can easily see that $z(t)/t^2$ is decreasing for $t \geq t_3$. It follows from the definition of z that

$$x^{\alpha}(\tau(t)) = \frac{1}{p(t)}(z(t) - x(t)) \le \frac{z(t)}{p(t)},$$

from which and the fact that $\tau(t) \leq t$ is strictly increasing, it is easy to see that

$$x(\tau^{-1}(t)) \le \frac{z^{1/\alpha}(\tau^{-1}(\tau^{-1}(t)))}{p^{1/\alpha}(\tau^{-1}(\tau^{-1}(t)))}$$

Using this in the definition of z, we obtain

$$x^{\alpha}(t) = \frac{1}{p(\tau^{-1}(t))} \left[z(\tau^{-1}(t)) - x(\tau^{-1}(t)) \right]$$

$$\geq \frac{1}{p(\tau^{-1}(t))} \left[z(\tau^{-1}(t)) - \frac{z^{1/\alpha}(\tau^{-1}(\tau^{-1}(t)))}{p^{1/\alpha}(\tau^{-1}(\tau^{-1}(t)))} \right]. \tag{2.3}$$

Since $\tau(t) \leq t$ and τ is strictly increasing, so τ^{-1} is increasing and $t \leq \tau^{-1}(t)$. Thus,

$$\tau^{-1}(t) < \tau^{-1}(\tau^{-1}(t)).$$

and since $z(t)/t^2$ is decreasing, we arrive at

$$\frac{\left(\tau^{-1}(\tau^{-1}(t))\right)^2 z(\tau^{-1}(t))}{\left(\tau^{-1}(t)\right)^2} \ge z\left(\tau^{-1}(\tau^{-1}(t))\right). \tag{2.4}$$

Using (2.4) in (2.3), we obtain

$$x^{\alpha}(t) \geq \frac{1}{p(\tau^{-1}(t))} \left[z(\tau^{-1}(t)) - \frac{\left(\tau^{-1}(\tau^{-1}(t))\right)^{2/\alpha}}{\left(\tau^{-1}(t)\right)^{2/\alpha}} \frac{z^{1/\alpha}(\tau^{-1}(t))}{p^{1/\alpha}(\tau^{-1}(\tau^{-1}(t)))} \right]$$

$$= \frac{z(\tau^{-1}(t))}{p(\tau^{-1}(t))} \left[1 - \left(\frac{\tau^{-1}(\tau^{-1}(t))}{\tau^{-1}(t)}\right)^{2/\alpha} \frac{z^{\frac{1}{\alpha}-1}(\tau^{-1}(t))}{p^{1/\alpha}(\tau^{-1}(\tau^{-1}(t)))} \right].$$

$$(2.5)$$

Since z(t) is positive and increasing for $t \ge t_2$, there exist $t_3 \in [t_2, \infty)$ and a constant c > 0 such that

$$z(t) \ge c \quad \text{for } t \ge t_3.$$
 (2.6)

Substituting (2.6) into (2.5) yields

$$x^{\alpha}(t) \ge \varphi(t)z(\tau^{-1}(t)) \quad \text{for } t \ge t_3. \tag{2.7}$$

Since $\lim_{t\to\infty} \sigma(t) = \infty$, we can choose $t_4 \ge t_3$ such that $\sigma(t) \ge t_3$ for all $t \ge t_4$. Thus, it follows from (2.7) that

$$x^{\alpha}(\sigma(t)) \ge \varphi(\sigma(t))z(\tau^{-1}(\sigma(t))) \quad \text{for } t \ge t_4.$$
 (2.8)

Using (2.8) in (1.1) gives

$$z''(t) + d(t)z'(t) + q(t)\varphi^{\beta/\alpha}(\sigma(t))z^{\beta/\alpha}(g(t)) \le 0 \quad \text{for } t \ge t_4.$$
 (2.9)

In view of the fact that d(t) > 0 and z'(t) > 0, it follows from (2.9) that

$$z''(t) + q(t)\varphi^{\beta/\alpha}(\sigma(t))z^{\beta/\alpha}(g(t)) \le 0.$$

Integrating from t_4 to t yields

$$z'(t) \le z'(t_4) - c^{\beta/\alpha} \int_{t_4}^t q(s) \varphi^{\beta/\alpha}(\sigma(s)) ds \to -\infty \text{ as } t \to \infty,$$

which contradicts the fact that z'(t) is positive.

Next, we consider case (II). Letting u(t) = -z'(t) > 0, it follows from (1.1) that

$$u'(t) + d(t)u(t) \ge 0$$
 for $t \ge t_2$.

Integrating this inequality from t_2 to t, we obtain

$$u(t) \ge u(t_2) \exp\left(-\int_{t_2}^t d(s)ds\right),$$

from which we see that

$$z'(t) \le z'(t_2) \exp\left(-\int_{t_2}^t d(s)ds\right). \tag{2.10}$$

Integrating (2.10) from t_2 to t and taking (1.2) into account, we obtain

$$z(t) \le z(t_2) + z'(t_2) \int_{t_2}^t \exp\left(-\int_{t_2}^s d(u)du\right) ds \to -\infty \text{ as } t \to \infty,$$

which contradicts the positivity of z and completes the proof of the theorem.

Theorem 2.2. Let conditions (C_1) – (C_5) and (1.2) hold. If there exists a positive function $\xi \in C^1([t_0,\infty),\mathbb{R})$ such that

$$\limsup_{t \to \infty} \int_{t}^{t} \left[\xi(s)q(s)\varphi^{\beta/\alpha}(\sigma(s))\pi(g(s)) \left(\frac{g(s)}{s}\right)^{2} - \frac{\xi(s)\eta^{2}(s)}{4} \right] ds = \infty, \qquad (2.11)$$

then equation (1.1) is oscillatory.

Proof. Let x(t) be a nonoscillatory solution of (1.1). Without loss of generality, we may assume that there exists $t_1 \in [t_0, \infty)$ such that x(t) > 0, $x(\tau(t)) > 0$, and $x(\sigma(t)) > 0$ for $t \ge t_1$. Then, from Theorem 2.1, z(t) satisfies either case (I) or case (II) for $t \ge t_2$. If case (II) holds, proceeding exactly as in the proof of Theorem 2.1, we again obtain a contradiction to the positivity of z.

Next, we consider case (I). Proceeding as in the proof of Theorem 2.1, we again arrive at (2.9) for $t \ge t_4$, which can be written as

$$z''(t) + d(t)z'(t) + q(t)\varphi^{\beta/\alpha}(\sigma(t))z^{\beta/\alpha - 1}(g(t))z(g(t)) \le 0$$
 (2.12)

for $t \geq t_4$. Since z'(t) is positive and decreasing on $[t_2, \infty)$, there exist a constant $c_1 > 0$ and $t_3 \geq t_2$ such that

$$z'(t) \le c_1$$
 for $t \ge t_3$.

Integrating the last inequality from t_3 to t, we obtain

$$z(t) \le bt \tag{2.13}$$

for $t \geq t_3$ and for some constant b>0. In view of (2.6) and (2.13), inequality (2.12) takes the form

$$z''(t) + d(t)z'(t) + q(t)\varphi^{\beta/\alpha}(\sigma(t))\pi(g(t))z(g(t)) \le 0$$
(2.14)

for $t \geq t_4$. Define the function w(t) by the Riccati substitution

$$w(t) := \xi(t) \frac{z'(t)}{z(t)} \quad \text{for } t \ge t_4.$$
 (2.15)

Clearly, w(t) > 0, and from (2.14) and (2.15), we observe that

$$w'(t) = \frac{\xi'(t)}{\xi(t)}w(t) + \xi(t)\left(\frac{z''(t)z(t) - (z'(t))^{2}}{z^{2}(t)}\right)$$

$$\leq \frac{\xi'(t)}{\xi(t)}w(t) + \frac{\xi(t)}{z(t)}\left[-d(t)z'(t) - q(t)\varphi^{\beta/\alpha}(\sigma(t))\pi(g(t))z(g(t))\right]$$

$$-\frac{1}{\xi(t)}w^{2}(t)$$

$$= \eta(t)w(t) - \xi(t)q(t)\varphi^{\beta/\alpha}(\sigma(t))\pi(g(t))\frac{z(g(t))}{z(t)} - \frac{1}{\xi(t)}w^{2}(t).$$
(2.16)

Using the fact $z(t)/t^2$ is decreasing, and noting that $\sigma(t) \leq \tau(t)$ implies $\tau^{-1}(\sigma(t)) \leq t$, we obtain

$$\frac{z\left(\tau^{-1}(\sigma(t))\right)}{z(t)} \ge \left(\frac{\tau^{-1}(\sigma(t))}{t}\right)^2 = \left(\frac{g(t)}{t}\right)^2. \tag{2.17}$$

Substituting (2.17) into (2.16) gives

$$w'(t) \le \eta(t)w(t) - \xi(t)q(t)\varphi^{\beta/\alpha}(\sigma(t))\pi(g(t)) \left(\frac{g(t)}{t}\right)^2 - \frac{1}{\xi(t)}w^2(t). \tag{2.18}$$

Completing the square with respect to w, it follows from (2.18) that

$$w'(t) \le -\xi(t)q(t)\varphi^{\beta/\alpha}(\sigma(t))\pi(g(t))\left(\frac{g(t)}{t}\right)^2 + \frac{\xi(t)\eta^2(s)}{4} \quad \text{for } t \ge t_4.$$

Integrating the last inequality from t_4 to t yields

$$\int_{t_4}^t \left[\xi(s) q(s) \varphi^{\beta/\alpha}(\sigma(s)) \pi(g(s)) \left(\frac{g(s)}{s} \right)^2 - \frac{\xi(s) \eta^2(s)}{4} \right] ds < w(t_4),$$

which contradicts (2.11) and completes the proof of the theorem.

From Theorem 2.2, we can establish different conditions for the oscillation of (1.1) using different choices of $\xi(t)$. For example, letting $\xi(t) = 1$ and $\xi(t) = t^{\gamma}$ with $\gamma \geq 1$, we obtain the following corollaries, respectively.

Corollary 2.3. Let conditions (C_1) – (C_5) and (1.2) hold. If

$$\limsup_{t \to \infty} \int_{t_0}^t \left[q(s) \varphi^{\beta/\alpha}(\sigma(s)) \pi(g(s)) \left(\frac{g(s)}{s} \right)^2 - \frac{d^2(s)}{4} \right] ds = \infty,$$

then equation (1.1) is oscillatory.

Corollary 2.4. Let conditions (C_1) – (C_5) and (1.2) hold. If

$$\limsup_{t \to \infty} \int_{t_0}^t \left[s^{\gamma - 2} q(s) \varphi^{\beta/\alpha}(\sigma(s)) \pi(g(s)) g^2(s) - \frac{\left[(s^{\gamma})' - s^{\gamma} d(s) \right]^2}{4s^{\gamma}} \right] ds = \infty, \quad (2.19)$$

then equation (1.1) is oscillatory.

Next, we present a new oscillation result in which we assume that $\eta(t) \leq 0$.

Theorem 2.5. Let conditions (C_1) – (C_5) and (1.2) hold. If there exists a positive function $\xi \in C^1([t_0,\infty),\mathbb{R})$ such that $\eta(t) \leq 0$ for $t \geq t_0$, and

$$\limsup_{t \to \infty} \int_{t_0}^{t} \xi(s)q(s)\varphi^{\beta/\alpha}(\sigma(s))\pi(g(s)) \left(\frac{g(s)}{s}\right)^2 ds = \infty, \tag{2.20}$$

then equation (1.1) is oscillatory.

Proof. Let x(t) be a nonoscillatory solution of (1.1), say x(t) > 0, $x(\tau(t)) > 0$, and $x(\sigma(t)) > 0$ for $t \ge t_1$ for some $t_1 \ge t_0$. Then, from Theorem 2.1, z(t) satisfies either case (I) or case (II) for $t \ge t_2$. If case (II) holds, proceeding exactly as in the proof of Theorem 2.1, we again obtain a contradiction to the positivity of z.

Next, we consider case (I). Proceeding as in the proof of Theorem 2.2, we again arrive at (2.18) for $t \geq t_4$. Since $\eta(t) \leq 0$ and w(t) > 0, inequality (2.18) can be written as

$$w'(t) \le -\xi(t)q(t)\varphi^{\beta/\alpha}(\sigma(t))\pi(g(t))\left(\frac{g(t)}{t}\right)^2$$
 for $t \ge t_4$.

Integrating the last inequality from t_4 to t gives

$$\int_{t_4}^t \xi(s)q(s)\varphi^{\beta/\alpha}(\sigma(s))\pi(g(s)) \left(\frac{g(s)}{s}\right)^2 ds < w(t_4),$$

which contradicts (2.20) and completes the proof of the theorem.

We conclude this paper with two examples and remarks to illustrate our results. The first example is concerned with the equation with superlinear neutral term in the case where $p(t) \to \infty$ as $t \to \infty$, and the second example is concerned with the equation with linear neutral term in the case where p is a constant function.

Example 2.6. Consider the differential equation with a superlinear neutral term and a damping term

$$z''(t) + \frac{1}{t^3}z'(t) + \frac{t}{2}x^5\left(\frac{t}{4}\right) = 0, \quad t \ge 1,$$
(2.21)

with

$$z(t) = x(t) + tx^5 \left(\frac{t}{2}\right).$$

Here p(t) = t, $d(t) = 1/t^3$, q(t) = t/2, $\tau(t) = t/2$, $\alpha = 5$, $\beta = 5$, and $\sigma(t) = t/4$. Then, it is easy to see that conditions (C_1) – (C_5) and (1.2) hold,

$$\tau^{-1}(t) = 2t, \ \tau^{-1}(\tau^{-1}(t)) = 4t, \ q(t) = t/2,$$

and

$$\varphi(t) = \frac{1}{2t} \left[1 - \frac{2^{2/5}}{\delta^{4/5} (4t)^{1/5}} \right].$$

Thus, it follows from (2.1) that

$$\int\limits_{t_0}^{\infty}q(s)\varphi^{\beta/\alpha}(\sigma(s))ds=\int\limits_{1}^{\infty}\left[1-\frac{2^{2/5}}{\delta^{4/5}s^{1/5}}\right]ds=\infty,$$

i.e., condition (2.1) holds. Thus, all conditions of Theorem 2.1 hold. Therefore, by Theorem 2.1, equation (2.21) is oscillatory.

Example 2.7. Consider the differential equation with a linear neutral term and a damping term

$$z''(t) + \frac{1}{t^2}z'(t) + t^2x^3\left(\frac{t}{8}\right) = 0, \quad t \ge 1,$$
(2.22)

with

$$z(t) = x(t) + 32x\left(\frac{t}{4}\right).$$

Here $\alpha = 1$, $\beta = 3$, p(t) = 32, $d(t) = 1/t^2$, $q(t) = t^2$, $\tau(t) = t/4$, and $\sigma(t) = t/8$. Then, it is easy to see that conditions (C_1) – (C_5) and (1.2) hold,

$$\tau^{-1}(t) = 4t$$
, $\tau^{-1}(\tau^{-1}(t)) = 16t$, $g(t) = t/2$ and $\varphi(t) = 1/64$.

With $\xi(t) = t$, condition (2.19) becomes

$$\begin{split} & \limsup_{t \to \infty} \int\limits_{t_0}^t \left[s^{\gamma - 2} q(s) \varphi^{\beta/\alpha}(\sigma(s)) \pi(g(s)) g^2(s) - \frac{\left[(s^\gamma)' - s^\gamma d(s) \right]^2}{4s^\gamma} \right] ds \\ & = \limsup_{t \to \infty} \int\limits_1^t \left[\frac{k_1}{2^{20}} s^3 - \frac{(s-1)^2}{4s^3} \right] ds = \infty, \end{split}$$

i.e., condition (2.19) holds. Thus, all conditions of Corollary 2.4 hold. Therefore, by Corollary 2.4, equation (2.22) is oscillatory.

Remark 2.8. The results of this paper can be easily extended to the second-order nonlinear differential equation with a superlinear neutral term and a damping term

$$(a(t)z'(t))' + d(t)z'(t) + q(t)x^{\beta}(\sigma(t)) = 0, \quad t \ge t_0 > 0,$$

under the condition

$$\int_{t_0}^{\infty} \frac{1}{a(t)} \exp\left(-\int_{t_0}^{t} d(s)/a(s)ds\right) dt = \infty,$$

where $a \in C([t_0, \infty), (0, \infty))$, $z(t) = x(t) + p(t)x^{\alpha}(\tau(t))$, and the other functions and constants α and β in the equation are defined as in this paper.

Remark 2.9. The results of this paper can be extended to the second-order nonlinear differential equation with a superlinear neutral term and a damping term

$$(a(t)(z'(t))^{\alpha})' + d(t)(z'(t))^{\alpha} + q(t)f(t, x(\sigma(t))) = 0, \quad t \ge t_0 > 0,$$

under the condition

$$\int_{t_0}^{\infty} \frac{1}{a^{1/\alpha}(t)} \left[\exp\left(-\int_{t_0}^{t} \frac{d(s)}{a(s)} ds\right) \right]^{1/\alpha} dt = \infty,$$

where $a \in C([t_0, \infty), (0, \infty))$, $z(t) = x(t) + p(t)x^{\alpha}(\tau(t))$, $f(t, u) : [t_0, \infty) \times \mathbb{R} \to \mathbb{R}$ is a continuous function such that uf(t, u) > 0 for all $u \neq 0$ and there exists a positive constant M such that

$$f(t,u)/u^{\beta} \ge M$$
 for $u \ne 0$,

and the other functions and constants α and β in the equation are defined as in this paper.

Remark 2.10. It would also be of interest to study equation (1.1) for the case where $p(t) \to -\infty$ as $t \to -\infty$.

Acknowledgements

The authors would like to thank the referee who gave a careful reading of the paper and made several suggestions for improvements in the presentation of our results.

REFERENCES

- B. Baculíková, J. Džurina, Oscillation theorems for second-order nonlinear neutral differential equations, Comput. Math. Appl. 62 (2011), 4472–4478.
- [2] B. Baculíková, T. Li, J. Džurina, Oscillation theorems for second order neutral differential equations, Electron. J. Qual. Theory Differ. Equ. 2011 (2011), 1–13.
- [3] M. Bohner, S.R. Grace, I. Jadlovská, Oscillation criteria for second-order neutral delay differential equations, Electron. J. Qual. Theory Differ. Equ. 2017 (2017), 1–12.
- [4] L. Erbe, T.S. Hassan, A. Peterson, Oscillation of second order neutral delay differential equations, Adv. Dyn. Syst. Appl. 3 (2008), 53–71.
- [5] S.R. Grace, J. Džurina, I. Jadlovská, T. Li, An improved approach for studying oscillation of second-order neutral delay differential equations, J. Inequal. Appl. 2018 (2018), Article ID 193, 1–13.
- [6] S.R. Grace, J.R. Graef, E. Tunç, Oscillatory behavior of second order damped neutral differential equations with distributed deviating arguments, Miskolc Math. Notes 18 (2017), 759–769.
- [7] S.R. Grace, I. Jadlovská, Oscillation criteria for second-order neutral damped differential equations with delay argument, Dynamical Systems – Analytical and Computational Techniques, INTECH, Chapter 2, 2017, 31–53.
- [8] T. Li, R.P. Agarwal, M. Bohner, Some oscillation results for second-order neutral dynamic equations, Hacet. J. Math. Stat. 41 (2012), 715–721.
- [9] T. Li, Y.V. Rogovchenko, Oscillation theorems for second-order nonlinear neutral delay differential equations, Abstr. Appl.Anal. 2014 (2014), Article ID 594190, 1–5.
- [10] T. Li, Y.V. Rogovchenko, C. Zhang, Oscillation results for second-order nonlinear neutral differential equations, Adv. Difference Equ. 2013 (2013), Article ID 336, 1–13.
- [11] T. Li, E. Thandapani, J.R. Graef, E. Tunç, Oscillation of second-order Emden-Fowler neutral differential equations, Nonlinear Stud. 20 (2013), 1–8.

- [12] S. Ruan, Oscillations of second order neutral differential equations, Canad. Math. Bull. 36 (1993), 485–496.
- [13] S.H. Saker, Oscillation of second-order neutral delay dynamic equations of Emden-Fowler type, Dynam. Syst. Appl. 15 (2006), 629–644.
- [14] E. Thandapani, S. Padmavathi, S. Pinelas, Classifications of solutions of second-order nonlinear neutral differential equations of mixed type, Adv. Difference Equ. 2012 (2012), Article ID 226, 1–13.
- [15] E. Tunç, S.R. Grace, On oscillatory and asymptotic behavior of a second-order nonlinear damped neutral differential equation, Int. J. Differ. Equ. 2016 (2016), Article ID 3746368, 1–8.
- [16] E. Tunç, J.R. Graef, Oscillation results for second order neutral dynamic equatitons with distributed deviating arguments, Dynam. Syst. Appl. 23 (2014), 289–303.
- [17] E. Tunç, A. Kaymaz, On oscillation of second-order linear neutral differential equations with damping term, Dynam. Syst. Appl. 28 (2019), 289–301.
- [18] E. Tunç, A. Kaymaz, Oscillatory behavior of second-order half-linear neutral differential equations with damping, Adv. Dyn. Syst. Appl. 14 (2019), 213–227.
- [19] J.S.W. Wong, Necessary and sufficient conditions for oscillation of second order neutral differential equations, J. Math. Anal. Appl. 252 (2000), 342–352.

Ercan Tunç (corresponding author) ercantunc72@yahoo.com
6 https://orcid.org/0000-0001-8860-608X

Department of Mathematics Faculty of Arts and Sciences Tokat Gaziosmanpaşa University 60240, Tokat, Turkey

Osman Özdemir osman.ozdemir@gop.edu.tr bttps://orcid.org/0000-0002-9873-6360

Department of Mathematics Faculty of Arts and Sciences Tokat Gaziosmanpaşa University 60240, Tokat, Turkey

Received: June 1, 2020. Revised: July 9, 2020. Accepted: July 9, 2020.